

Reduction of Orders (2A)

Copyright (c) 2011 - 2014 Young W. Lim.

Permission is granted to copy, distribute and/or modify this document under the terms of the GNU Free Documentation License, Version 1.2 or any later version published by the Free Software Foundation; with no Invariant Sections, no Front-Cover Texts, and no Back-Cover Texts. A copy of the license is included in the section entitled "GNU Free Documentation License".

Please send corrections (or suggestions) to youngwlim@hotmail.com.

This document was produced by using OpenOffice and Octave.

Reduction of Orders

Finding another solution y_2 from the known y_1

Second Order EQ

$$a \frac{d^2 y}{dx^2} + b \frac{dy}{dx} + c y = 0$$



$$= f(x) \quad \text{known solution}$$

$$= u(x)f(x) \quad \text{another solution to be found}$$

We know one solution

$$y_1(x) = e^{m_1 x} = e^{m_2 x} = e^{-\frac{b}{2a}x}$$

Suppose the other solution

$$y_2(x) = u(x)y_1(x) = u(x)e^{m_1 x}$$

Condition for $y_2(t)$ to be a solution



Find $u(x)$

Conditions for y_2 to be another solution

$$a \frac{d^2 y}{dx^2} + b \frac{dy}{dx} + c y = 0$$

$$a y'' + b y' + c y = 0$$

$$\begin{cases} y_2 = u y_1 \\ y_2' = u' y_1 + u y_1' \\ y_2'' = u'' y_1 + 2u' y_1' + u y_1'' \end{cases}$$

$$a y_2'' + b y_2' + c y_2 = 0 \quad \Rightarrow \quad a[u'' y_1 + 2u' y_1' + \underline{u y_1''}] + b[u' y_1 + \underline{u y_1'}] + \underline{c u y_1} = 0$$

$$a y_1'' + b y_1' + c y_1 = 0 \quad \Rightarrow \quad \underline{u[a y_1'' + b y_1' + c y_1]} + a[u'' y_1 + 2u' y_1'] + b[u' y_1] = 0$$

Condition for $y_2(t)$ to be a solution

$$y_2(x) = u(x) y_1(x)$$

$$a u'' y_1 + u' [2a y_1' + b y_1] = 0$$

Reduction of Order

We know one solution

$$y_1(x)$$

Suppose the other solution

$$y_2(x) = u(x)y_1(x)$$

$$a \frac{d^2 y}{dx^2} + b \frac{dy}{dx} + c y = 0$$

$$a y'' + b y' + c y = 0$$

$$a y_2'' + b y_2' + c y_2 = 0$$



$$a u'' y_1 + u' [2a y_1' + b y_1] = 0$$

$$w(x) = u'(x)$$



$$a w' y_1 + w [2a y_1' + b y_1] = 0$$

$$w' y_1 = -w [2y_1' + \frac{b}{a} y_1]$$

$$\frac{w'}{w} = -2 \frac{y_1'}{y_1} - \frac{b}{a}$$

$$\frac{1}{w} \frac{dw}{dx} = -2 \frac{1}{y_1} \frac{dy_1}{dx} - \frac{b}{a}$$

$$\int \frac{1}{w} \frac{dw}{dx} dx = -\int 2 \frac{1}{y_1} \frac{dy_1}{dx} dx - \int \frac{b}{a} dx$$

$$\ln|w| = -\ln|y_1|^2 - \frac{b}{a}x + c$$

$$\ln|w| + \ln|y_1|^2 = -\frac{b}{a}x + c$$

$$\ln|w y_1^2| = -\frac{b}{a}x + c$$

$$|w y_1^2| = C e^{-(b/a)x}$$

$$w y_1^2 = c_1 e^{-(b/a)x}$$

$$w = c_1 e^{-(b/a)x} / y_1^2$$

$$u' = c_1 e^{-(b/a)x} / y_1^2$$

$$u = c_1 \int \frac{e^{-(b/a)x}}{y_1^2} dx + c_2$$

Another Solution y_2

We know one solution

$$y_1(x)$$

Suppose the other solution

$$y_2(x) = u(x)y_1(x)$$

$$a \frac{d^2 y}{dx^2} + b \frac{dy}{dx} + c y = 0$$

$$a y'' + b y' + c y = 0$$

$$a y_2'' + b y_2' + c y_2 = 0$$



$$a u'' y_1 + u' [2a y_1' + b y_1] = 0$$

$$u = c_1 \int \frac{e^{-(b/a)x}}{y_1^2} dx + c_2$$



$$y_2 = c_1 y_1 \int \frac{e^{-(b/a)x}}{y_1^2} dx + c_2 y_1 \quad (c_1=1, c_2=0)$$



$$y_2 = y_1 \int \frac{e^{-(b/a)x}}{y_1^2} dx$$

General Solutions for the repeated roots case

$$y_2 = y_1 \int \frac{e^{-(b/a)x}}{y_1^2} dx$$

$$m_1 = (-b + \sqrt{b^2 - 4ac})/2a$$

$$m_2 = (-b - \sqrt{b^2 - 4ac})/2a$$



$$b^2 - 4ac = 0$$



$$m_1 = -b/2a$$

$$m_2 = -b/2a$$

$$e^{m_1 x} = e^{m_2 x} = e^{-\frac{b}{2a}x}$$

$$y_1(x) = e^{-\frac{b}{2a}x}$$

$$y_1^2 = e^{-\frac{b}{a}x}$$

$$y_2 = e^{-\frac{b}{2a}x} \int \frac{e^{-(b/a)x}}{e^{-\frac{b}{a}x}} dx = e^{-\frac{b}{2a}x} \int 1 dx \quad \rightarrow$$

$$\begin{vmatrix} y_1 & y_2 \\ y_1' & y_2' \end{vmatrix} \neq 0$$

$$y_1(x) = e^{-\frac{b}{2a}x}$$

$$y_2(x) = x e^{-\frac{b}{2a}x}$$

$$y(x) = c_1 y_1(x) + c_2 y_2(x)$$

How can xy_1 be another solution to the known y_1

We know one solution

$$y_1(x)$$

Suppose the other solution

$$y_2(x) = xy_1(x)$$

$$a \frac{d^2 y}{dx^2} + b \frac{dy}{dx} + cy = 0$$

$$ay'' + by' + cy = 0$$

$$(xy_1)' = y_1 + xy_1'$$

$$\begin{aligned}(xy_1)'' &= y_1' + y_1' + xy_1'' \\ &= 2y_1' + xy_1''\end{aligned}$$

$$\begin{aligned}a(xy_1)'' + b(xy_1)' + c(xy_1) &= a(2y_1' + xy_1'') + b(y_1 + xy_1') + c(xy_1) \\ &= x[ay_1'' + by_1' + cy_1] + 2ay_1' + by_1 \\ &= 2ay_1' + by_1 = 0\end{aligned}$$

Condition for xy_1 to be a solution

$$y_2(x) = xy_1(x)$$



$$[2ay_1' + by_1] = 0$$

$$y_2(x) = u(x)y_1(x)$$



$$au''y_1 + u'[2ay_1' + by_1] = 0$$

Example: Finding $y_2 \leftarrow y_1$ (1)

$$1 \cdot y'' + 0 \cdot y' - 4 \cdot y = 0$$

$$y_1(x) = e^{-2x}$$

Find $y_2(x)$

$$y_2 = u y_1$$

$$y_2' = u' y_1 + u y_1'$$

$$y_2'' = u'' y_1 + u' y_1' + u' y_1' + u y_1''$$

$$y_2 = u e^{-2x}$$

$$y_2' = u' e^{-2x} - u 2e^{-2x}$$

$$y_2'' = u'' e^{-2x} - u' 2e^{-2x} - u' 2e^{-2x} + u 4e^{-2x}$$

$$y_2'' - 4 \cdot y_2 = 0$$



$$(u'' e^{-2x} - u' 2e^{-2x} - u' 2e^{-2x} + u 4e^{-2x}) - 4u e^{-2x} = 0$$

$$(u'' e^{-2x} - 4u' e^{-2x}) + u(4e^{-2x} - 4e^{-2x}) = 0 \implies (u'' e^{-2x} - 4u' e^{-2x}) = 0$$

$$1 \cdot y'' - 4 \cdot y = 0$$

$$a u'' y_1 + 2u' a y_1' = 0$$

Condition for $y_2(t)$ to be a solution

$$y_2(x) = u(x) y_1(x)$$



$$a u'' y_1 + u' [2a y_1' + b y_1] = 0$$

Example: Finding $y_2 \leftarrow y_1$ (2)

$$1 \cdot y'' + 0 \cdot y' - 4 \cdot y = 0$$

$$y_1(x) = e^{-2x}$$

Find $y_2(x)$

$$(u''e^{-2x} - 4u'e^{-2x}) + u(4e^{-2x} - 4e^{-2x}) = 0 \implies (u''e^{-2x} - 4u'e^{-2x}) = 0$$
$$1 \cdot y'' - 4 \cdot y = 0 \qquad au''y_1 + 2u'ay_1' = 0$$

$$(u'' - 4u')e^{-2x} = 0 \implies u'' - 4u' = 0$$

$$w = u'$$

$$u'' - 4u' = 0$$

$$w' - 4w = 0$$

$$\frac{w'}{w} = 4$$

$$\int \frac{1}{w} \frac{dw}{dx} dx = \int 4 dx + c$$

$$\int \frac{1}{w} dw = \int 4 dx + c$$

$$\ln|w| = 4x + c$$

$$|w| = e^{4x+c}$$

$$w = c_1 e^{4x}$$

$$u' = c_1 e^{4x}$$

$$u = \frac{1}{4} c_1 e^{4x} + c_2$$

Example: Finding $y_2 \leftarrow y_1$ (3)

$$1 \cdot y'' + 0 \cdot y' - 4 \cdot y = 0$$

$$y_1(x) = e^{-2x}$$

Find $y_2(x)$

$$u' = c_1 e^{4x} \quad \rightarrow \quad u = \frac{1}{4} c_1 e^{4x} + c_2$$

$$y = k_1 y_1 + k_2 y_2$$

$$= k_1 e^{-2x} + k_2 \left(\frac{1}{4} c_1 e^{+4x} + c_2 \right) e^{-2x}$$

$$= k_1 e^{-2x} + k_2 \frac{1}{4} c_1 e^{+2x} + k_2 c_2 e^{-2x}$$

$$= k_1 e^{-2x} + k_2 c_2 e^{-2x} + k_2 \frac{1}{4} c_1 e^{+2x}$$

$$y = (k_1 + k_2 c_2) e^{-2x} + \left(k_2 \frac{1}{4} c_1 \right) e^{+2x}$$

$(k_1) e^{-2x} + \left(k_2 \frac{1}{4} c_1 \right) e^{+2x}$	$c_1 \neq 0 \quad c_2 = 0$
$(k_1 + k_2 c_2) e^{-2x}$	$c_1 = 0 \quad c_2 \neq 0$
$k_1 e^{-2x} + k_2 e^{+2x}$	$c_1 = 4 \quad c_2 = 0$

Example: Finding $y_2 \leftarrow y_1$ (4)

$$1 \cdot y'' + 0 \cdot y' - 4 \cdot y = 0$$

$$y_1(x) = e^{-2x}$$

Find $y_2(x)$

$$y = (k_1 + k_2 c_2) e^{-2x} + \left(k_2 \frac{1}{4} c_1 \right) e^{+2x}$$

$$\left\{ \begin{array}{l} (k_1) e^{-2x} + \left(k_2 \frac{1}{4} c_1 \right) e^{+2x} \\ (k_1 + k_2 c_2) e^{-2x} \end{array} \right. \quad \begin{array}{l} c_1 \neq 0 \quad c_2 = 0 \\ c_1 = 0 \quad c_2 \neq 0 \end{array}$$

$$k_1 e^{-2x} + k_2 e^{+2x} \quad c_1 = 4 \quad c_2 = 0$$

$$C_1 e^{-2x} + C_2 e^{+2x}$$

$$W(e^{-2x}, e^{+2x}) = \begin{vmatrix} e^{-2x} & e^{+2x} \\ -2e^{-2x} & +2e^{+2x} \end{vmatrix} = 2 - (-2) = 4$$

$$W(e^{-2x}, e^{+2x}) \neq 0$$

linearly independent 

Fundamental Set of Solutions

$$\{e^{-2x}, e^{+2x}\}$$

References

- [1] <http://en.wikipedia.org/>
- [2] M.L. Boas, “Mathematical Methods in the Physical Sciences”
- [3] E. Kreyszig, “Advanced Engineering Mathematics”
- [4] D. G. Zill, W. S. Wright, “Advanced Engineering Mathematics”
- [5] www.chem.arizona.edu/~salzmanr/480a